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Page 31 – Activity 1

1	   
2	   
3	    
4	   
5	

Page 32 – Activity 2

1	 yes  
2	 no  
3	 no  

Page 33 – Activity 3

Reader’s own answers
Model answers
In picture a, there is one animal.
In picture b, there are two animals.
In picture a, the old woman is next to the cow.
In picture b, the old woman is behind the 

horse and the cow.
In picture a, there are two flowers.
In picture b, there are no flowers.

Page 34 – Activity 4

1	 no  
2	 no 
3	 yes 
4	 no 

Page 35 – Activity 5

e a t o h g

n x u y o i

o f o x r n

r z n k s g

c w i q e e

o v e n h r

w z q w m b

s o u k w r

c a t c h e

s n c r o a

t a i l w d

Page 36 – Activity 6

1	 The little old woman has to run very 
quickly. 

2	 The little old woman cannot catch the 
gingerbread man. 

3	 The gingerbread man must run quickly. 

Page 37 – Activity 7

Reader’s own answers

Page 38 – Activity 8

Reader’s own answers
Model answers
1	 Picture d is different because it shows ears, 

not a nose.
2	 Picture b is different because it shows a 

face not legs.
3	 Picture c is different because it shows ears, 

not a tail.
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Page 39 – Activity 9

1	 a 
2	 b 
3	 b 
4	 a 

Page 40 – Activity 10

1	 Because he was clever. 
2	 Because his feet were in the water. 
3	 Because he was hungry.

Page 41 – Activity 11

Reader’s own answers
Model answers
1	 Does the old woman live in a city?  

	 No, she does not.
2	 What is the old woman doing? Why? She is 

running after the gingerbread man because 
she wants to eat him.

3	 Why did she make the gingerbread man?  
	 Because she was hungry.

4	 Why did the gingerbread man run from the 
house? Because he did not want to be eaten.

Page 42 – Activity 12

1	 b 
2	 a 
3	 b 
4	 b 

Page 43 – Activity 13

1	 The little old woman ran behind the 
gingerbread man.

2	 The gingerbread man ran in front of the 
little old woman.

3	 The cow and the horse ran behind the 
gingerbread man.

4	 The gingerbread man jumped on the  
fox’s back.

5	 The gingerbread man jumped on the fox’s 
head, and the fox ate him.

Page 44 – Activity 14

Reader’s own answers

Page 45 – Activity 15

1	 No, she did not. 
2	 Yes, he did. 
3	 Yes, she did.

Page 46 – Activity 16

1	 cow
2	 fox
3	 oven
4	 river

Page 47 – Activity 17

Reader’s own answers
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